Q 1 : Write two solutions for each of the following equations:
(i)5x -2y =7

(ii) x = 6y

(iii) x +mty = 4

(iv)2/3x -y = 4.

Al:

(i) We are given,

3x +4y=7

Substituting x = 1

In the given equation,

We get
3x1+4y =7

dy =7-3 4=4Y
Y =1

Thus x =1 andy =1 is the solution of 3x + 4y =7
Substituting x = 2 in the given equation,
weget3x2+4y=7

dy=7-6

y=1/4

Thus x =2 and y=1/4isthe solution of 3x + 4y = 7

(ii) We are given, x = 6y

Substituting x =0 in the given equation,
we get 0 = 6y

6y=0

y=0

Thusx =0, => Solution (0,0)
Substituting x=6

6 = 6y

y= 6/6

y=1 => Solution (6,1)

(i) We are given x + Ty = 4



Substituting x = 0 in the given equation,
Weget0+my =4

my =4
_ 4
Y= =
=> Solution = (0, %)

Substituting y = 0 in the given equation, we get
x+0=4

X=4

=> Solution = (4, 0)

(iv) We are given %X —-y=4

Substituting x = 0 in the given equation, we get
0-y=4

y=-4

Thusx =0andy=-4 is a solution
Substituting x = 3 in the given equation, we get
%X3—y=4

2-y=4

y=2-4

y=-2

Thus x =3 andy =-2 is a solution

Q 2 : Write two solutions of the form x = 0, y'= a and x = b, y = 0 for each of the following equations : (i) 5x - 2y
=10 (ii) -4x + 3y =12 (iii) 2x + 3y = 24

A2:

(i) We are given,

5x-2y=10

Substituting x = 0 in the given equation,
We get;

5x0-2y=10

-2y=10

-y=10/2

y==3



Thus x =0 and y = -5 is the solution of 5x-2y = 10
Substituting y = 0 in the given equation, we get 5x =2 x 0 =10
5x =10

x=10/2

X=2

Thus x =2 and y = 0 is a solution of 5x-2y = 10
(i) We are given, - 4x + 3y = 12

Substituting x = 0 in the given equation,

we get;

-4x0 + 3y =12

3y=12

y=4

Thus x =0 andy = 4 is a solution of the -4x + 3y = 12
Substituting y = 0 in the given equation, we get;
-4x+3x0=12

-4x=12

x =-12/4

x=-3

Thus x =-3 and y =0 is a solution of -4x + 3y =12
(iii) We are given, 2x + 3y = 24

Substituting x = 0 in the given equation, we get;
2x0+3y=24

3y =24

y =24/3

y=8

Thus x =0 andy = 8 is a solution of 2x+ 3y = 24
Substituting y = 0 in the given equation, we get;
2x+3x0=24

2x=24

X =24/2

x =12

Thus x =12 and y = 0 is a solution of 2x + 3y = 24

Q3: Check which of the following are solutions of the equation 2x — y = 6 and Which are not :



(i)(3,0) (ii)(0,6) (iii) (2,-2)
A3:

We are given, 2x -y =6

(i) In the equation 2 x -y = 6,

We have LH.S=2x—yandRH.S=6
Substitutingx=3andy=0in2x -y,
WegetLHS=2x3-0=6
=>L.H.S=RH.S

=>(3,0) is a solution of 2x —y = 6.

(i) In the equation 2x —y = 6,

We have L.H.S= 2x—y and R.H.S=6
Substitutingx=0andy=6in2x —y
WegetLHS=2x0-6=-6
=>L.HS#ARH.S

=>(0,6) is not a solution of 2x —y = 6.
(iii) In the equation 2x —y = 6,

We have LH.S=2x-yandR.HS=6
Substitutingx=2andy=-2in2x —y,
WegetLHS=2x2-(-2)=6
=>L.H.S=R.H.S

=>(2,-2) is a solution of 2x —y = 6.
(iv) In the equation 2x —y = 6,

We have L.H.S = 2x-y and R.H.S=6
Substituting x = V3 and y=0in2x—y,
Weget LH.S=2x \/§ -0
=>L.HS#RH.S

=>(\/§,O)is not a solution of 2x —y = 6.

(v) In the equation 2x —y = 6,

We have LH.S=2x-yandR.HS=6
Substituting x =1/2 and y = in 2x —y, we get
L.H.S=2x(1/2) - (-5)

=>1+5=6

=> LH.S=R.H.S

(iv) (3,00 (v) (3 ,5)



1
=>(E'-

5) is a solution of 2x —y = 6.

Q4: If x=-1,y =2 is a solution of the equation 3x + 4y = k, find the value of k.
Ad:

We are given, 3 x+4y=k

Given that, (-1,2) is the solution of equation 3x + 4y = k.

Substituting x =-1and y = 2 in 3x + 4y = k,

Weget;3x-1+4x2=Kk

K=-3+8

k=5

Q 5 : Find the value of ), if x = -\ and y = % is a solution of the equation x + 4y -7 = 0

Ad:
We are given,
x+4y-7=0

(-A,- 5)is a solution of equation 3x + 4y = k

Substitutingx=—kandy=%inx+4y—7=0,

Weget;—k+4x(%)—7=0
- 5 _9-

7»+4x2 7=0
A=10-7

h=3

Q6:Ifx=2a+1andy=a-1is asolution of the equation 2x - 3y + 5 = 0, find the value of a.
A6:

We are given, 2x =3y +5=0

(2a+1,a-1) s the solution of equation 2x = 3y + 5= 0.
Substitutingx=2a+1andy=a-1in2x-3y+5=0,

Weget2x2a+(1-3)xa-1+5=0

=>4a+2-3a+3+5=0

=>a+10=0

=>a=-10



Q7:Ifx=1andy = 6 is a solution of the equation 8x - ay + a? = 0, find the values of a.
A7:

We are given,

8x—ay+al=0

(1,6)is a solution of equation 8x — ay + a% =0
Substituting x =1 and y = 6 in 8x - ay + a> = 0,we get
8x1-ax6+a’=0

=>a’-6a+8=0

Using quadratic factorization

a’-4a-2a+8=0

a@a-4)-2(a-4)=0

(a-2)(a-4)=0

a=24



